1. [image: ]











[image: ]
2. 

	









3. [image: ][image: ]











[image: ]

	

image1.png
& = € [ [ papersxtremepapers.com/CIE/Cambridge%20IGCSE/Mathematics%20(0580)/0580_w02_qp_2.pdf 7| =

£ Solid figures [ Free... @) Auto Parts Warchou... [E] History ontheNet... [1] NewTab [ Microsoft Outlook .. 43, Hillel AcademySIS-.. [} hitpsi/lms/isnota..  »

Find, by using accurate constructions, the region inside the circle which contains the points more
than 5 cm from G and nearer to H than to G. Shade this region. 0]
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The diagram shows a quadilateral ABCD,
(@) Draw the locus of points n the quadrilateral which are Scm from A m
(®) Using a straght edge and compasses only, draw the locus of all points inside the quadilateral

which are equidistant from Cand D.
Show all your construction lines. [&)]

Shade the region which contains points in the quadrilateral that are more than § cm from A and
nearer to D than to C.
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4 240m

‘The boundary of a park is in the shape of a triangle ABC.
AB=240m, BC= 180m and CA = 140m.

In part (a), show clearly all your construction ares.

(@ () Using ascale of | centimetre to represent 20 metres, construct an accurate scale drawing
of triangle ABC. The line AB has already been drawn for you.
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(a) In this part of the question use a straight edge and compasses only.

Leaving in your construction lines,

() construct the angle bisector of angle ACB, B)]
(i) construct the perpendicular bisector of AC. B)] £
(b) Draw the locus of all the points inside the triangle ABC which are 7 cm from C. 0]

(¢) Shade the region inside the triangle which is nearer to A than C, nearer to BC than AC and less
than 7em from C. 0]
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(i) Using a straight edge and compasses only, construct the biscctor of angle ACB.

Label the point D, where this biscctor meets AB. 63}

Using a straight edge and compasses only, construct the locus of poits, inside the triangle,
‘which are equidistant from 4 and from D. €]

Flowers are planted in the park so that they are nearer to AC than to BC and nearer
10D than to A.

‘Shade the region inside your triangle which shows where the flowers are planted. m
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